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\usepackage{pstricks-add}

\begin{document}

\psset{arrowsize=8pt,arrowlength=1,linewidth=1pt,nodesep=2pt,shortput=tablr}\large

\begin{psmatrix}[colsep=12mm,rowsep=10mm]

& & $R_2$ \\

& & 0 && $R_3$\\

$e_b:S$ & 1 & & 1 & 0 \\

& & 0 \\

& & $R_1$ \\

\end{psmatrix}

\ncline{h-}{1,3}{2,3}<{$e_{r2}$}>{$f_{r2}$}

\ncline{-h}{2,3}{3,2}<{$e_1$}

\ncline{-h}{3,1}{3,2}^{$e_s$}_{$f_{s}$}

\ncline{-h}{3,2}{4,3}>{$e_3$}<{$f_3$}

\ncline{-h}{4,3}{3,4}>{$e_4$}<{$f_4$}

\ncline{-h}{3,4}{2,3}>{$e_2$}<{$f_2$}

\ncline{-h}{3,4}{3,5}^{$e_5$}

\ncline{-h}{3,5}{2,5}<{$e_{r3}$}>{$f_{r3}$}

\ncline{-h}{4,3}{5,3}<{$e_{r1}$}>{$f_{r1}$}


